












































































































I 8
Exl Solve x 6 8 0 i 8

21 4

x 2 x o z 40

Either X 2 0 or x so

x Z x 4

Ex2 Solve x
Z

t 8x 20 0 ti Zo
l 1 20

x 2 x to O 2 to
2 lov

Either X Z O or Xtc 0 0

x Z x 10

Exercise Solve

1 I 9 18 0

x 3 x 6 so

Either x 3 0 or X 6 0

c 3 x 56

2 22 tax 5 0

x 1 x 151 0

Either x 1 0 or act 5 0

x I se 5

Solving Quadratic Equations By Factorising














































































































3 x 5 6 0

x 2 x 3 o

Either x 2 0 or set 3 0
2 x 3

4 x 4 21 0

x 3 x 7 o

Either It 3 0 or x 7 0

x 3 x 7

5 od t 2x 30 0

x 3 seto 0

Either x 3 o or X 1 10 0

x 3 x lo

6 22 se 30 0

x 1 5 x 6 so

Either 21 5 0 or se 6 0

x 5 x 6














































































































7 XZ 12 432 0

Gc 4 x 18 0

Either x 4 0 or act 8 0
4 8

8 K2 2x I 0

x 1 x l o

Either x 1 0 or se 1 0

x L K Double Roof

9 of 13 14 0

x 11 Kx ie o

Either 2 1 0 or X 14 0

x I 2 14

O x x 42 0

x 6 x 17 0

Either x 6 0 or act 7 0

x 6 x 7































Consider a b a b

a't ab ab 52

a
2

Therefore a b atb a b

Examples i x 16

x 42 set x 4

z I
se f CxtDCsc D

3 4
2
g

2x 32 2 3 2x 3

4 Solve x 81 0

2 92 0

octa Cx 9 so

Either 21 9 0 or X 9 0

x 9 x 9

Difference of Two Squares



Exercise Factorise

1 of 25
52 5 x 5

2 I 100
2 102 Sotto x ro

3 4p2 9g
Zp 3g 2pt3q 2p 3g


